
Mesure d’un Rectangle (H)

Calculez les mesures manquantes pour chaque rectangle.
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P = 15,72 dm
A = ?
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32,4 m

P = 129,6 m
A = ?
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26,5 dm

P = 91 dm
A = ?
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P = 99,52 m
A = ?
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11,1 dam

P = 37,32 dam
A = ?
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32,64 hm

P = 118,08 hm
A = ?

6.
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Mesure d’un Rectangle (H) Réponses

Calculez les mesures manquantes pour chaque rectangle.
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5,81 dm

P = 15,72 dm

A = 11,9105 dm2
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32,4 m

P = 129,6 m

A = 1049,76 m2
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26,5 dm

P = 91 dm

A = 503,5 dm2
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27,2 m

P = 99,52 m

A = 613,632 m2
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11,1 dam

P = 37,32 dam

A = 83,916 dam2
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32,64 hm

P = 118,08 hm

A = 861,696 hm2
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